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ot RiNG FTCTOPIOCEsS 18 afled o TH-bit 'E'I'Iil:!'l."].'!T(\'CE:ZSDT hecause

EE-504C (A daa bus s e ot (B address bus is 16 b
1) accumulator is 16 hit (12) its memory is 16 bit
MICROPROCESSORS AND MICROCONTROLLER

é 3 4 vn The total O space available i XOXS microprocessor if used peripheral =
= z = mapped 0 s =
. i3 Appped z
= Ti / ed: | Ii Marks: 72 = -
E lme Allotted: 3 Hours Fuli Marks 5 5 (A8 (B 10 :
= owm .
a’S- The questions are of eyual value ?ﬁ- E )16 (13) 256
=4 The figures in the margin indicate full marks. = =
g Candidates are required to give their answers in their own words as far as practicable. = = 'y4iid If the crystal with 8085 is 2 MUz the time required 10 execute an
= ; ; mstruction of 200 T- states are
& GROUP A B 5
i ! [T (A) 20 us (B) 10 ps
= {Multiple Choice Type Questions) g 8 (C) 40 ps (D)5 ps
= k. Answer any fen guestions. 10=1 =10 = =
(i) The number of register pairs of 808 microprocessor is {ix) The total memory space available in 8086 is
(A)3 (B)2 (A1 16 KB (B)64 KB
(Cy4 (D)5 iC) i MB (D) 256 KB
(ii) Number of machine cycles in IMP is (x) F-States m “CALL" instruction of B085 CPU are
( ol
uCn: tff;;; (A)13 (B) 18
< () z = (Cyio (D)7
é (iiii) Which of the following interrupt is both level and edge sensitive? z =
-E {A)RST 5.5 (B)RST 6.5 = (at) 8239A interrupt controller controls how many interrupts ]
o (C)RST 7.5 (D) TRAP 2 2 ik s
- 5 o e (DY
= (iv) What is the restart address for RST 47 E_E +L o
—
= (A) 0024H (B) 0020H s 2 o ) L=
= (C) 00281 (D) 0000H = = (s The _  ensures that only one IC is active at a ime (o avoida =
g . 5 5 hus conflict cavsed by tvo ICs vriting different data to the same bus. 3
3; (v} For 8255 PPI, the bi-directional mode of operation is supported in 2 2 . (B) Control instructions :
e &
a (A) Mode | (B) Mode 2 E E i) Address decoder {n}(“Pll E
(C) Mode 0 (D) either (A) or (B)
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What 1s minimum and maximum mode of 80806 microprocessor?

With example state the generanon ol 20 b phvsical address in contesi
10 ROE6 pP.
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- ; ; its : re in 8083 mic cessor? Explain eaci =
Answer any three questions. (e ; g 9. (@) i—;;;: many flag bits are there in 8083 microprocessor? Explain cach of ;
2. I:xplaln the dlfftrﬂnt ypes of addrcmmg modes in BO%S with r:\'ilr‘nr}ll:!-. b § 'E ih} \-‘;I’il.p an as%embly }augu,]gl_- pr__.‘,rﬂITi w0 ]nulﬁpl}' WO nu‘.nbrra:. (_Ii I:E—hii g
3 What is meant by subroutine? Briefly d: h ; 1 o= data stored in the memory location XX00H and XX01H. Store the
’ § mes 8 e Briefly discuss the seguence of cvents D ; 02 3 i
that takes place while executing CALL instruction, E : product in XXURH. and SCXO3H, Use:stfl and aoc methos
Lo e oy z i =
4. Write a program h based on 8085 CPU to find out the smallest number. s § 5§  1042) Whatdoyoumean by T-State, Machine Cycle and Execution Cycle?
starting from 2000 of 10 numbers and store result in 2200H 5 =5 {b)} Draw the Timing diagram of the following instruction stored in memory ks
o o : : F H- IN
5. {a) Explain the action of the bits of the control word register of 8255 PP, 2 g 8 location starting from SOFF H- [N 50H
(b} How is pipelining achieved in 8086 microprocessor? v B B ey dn 5 memoty mapped ”t)‘. g dars & wieropraceordientise
between an 1/0 and memory?
6. (a) What is tri-state”? Why is it importam? 2
(b} Can an input and an output port have same address” i . . . :
)t ppat aexd) S output pere Rave sume addrene sy - 1. Write short notes on any three of the following:
{a) BSR maode of 8255
{b) DMA controller.
GROUP C (c) RIM and SIM instructions of BO85
(Long Answer Type Questions) § (d) Flags of 8086 processor
Answer any three questions. 3=15=45 g i ek-Anierangs extamel meony: e A0 miCrosonireties
7. (a) What are the differences between a  microprocessor and a 24443 E E
microcontroller? $343  mm =
(b} Discuss the memory organization of BO51 microcontroller. What is the — =
function of program status word (PSW) in 80517 s = =]
- = -
(¢) What is the role of SFRs in 8051 microcontroller? Explain. = = =
— ] =1
(d) Wrile an 8051 assembly language program to add two 16 bit no, e @ &
| _ - ) S 8 S
8. (a) What are the main functions of BIU and EL? d-4+4-3 2 = =
(b) What are the major segments in memory of an 808& microprocessor
system? What are their functions?
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